S BEDdOHNESG § Eomd
£0ed0 et gD gimenm ewlsien
2edned3(w0@izns) ¢l e¢dn vlfeaa (R:80) - 2016

2025 &8
ExDwelm 0dhne
AMAT E 2025 - w:805@m 9@

gD ©8.01500: wmé (07) 89 e3:8m00: mend (03) moce: s1e o8 (03)

g&dm wemd (06) s 88n0; wonsis .

QL.

Q2.

(a) &=t Beneen D8sY O ce §Bed @yd dv 3.215 £ Imm ecs cids.
5 Genews S8 i BEIQdem o 18082 8y dw 0.075 + Imm e
CRB. Bt Bodes dmed mOJ By®e? eulyn efdsin.

(b) wetedcm BB wew sugm D GEm gedrnr yme mTsim.

(¢) i [1,1.5] go¥mdes ne 2t + 2% — 3 = 0 8 Deg®s 1072 » RoDesmdemd
wriBimbsens BEOO gdoms BudJ 63001500 ewssin.

. & escen @D 0dmo I Heduw sndED Bwi ¢wdsim.

iii. s®dedem BB wrdm S @O BDEME eBn FEw eersis.

(3) cosid epm"ﬁy&)ﬁ@éeam gRe wdm md f(6) sewm gov BEime mSHI.

z 20 21 32 40 42
fz) 5 8 15 54 75

(b) a830g gommeest sun mmsed LU Bu-eeftmna eassis,
4 4 4 4 4
A=1443 3 3
3311 -1
—4
(c) 9w» LU Bacowddmes wmbneast AT = | 2 | e» oddBed Bue® ewmesin.
9

©nwd®astid ...



Q3.

Q4.

(a) Boosied yBo grindBebam gyw

(2+ 1)v2 +u(u+1)..;ﬁ(u+n—1)vnyn

Y(x) = yn + uVy, +

O8sY ocm CAO» AL eustOEin. 68 n vy 8@ A» BIces g,
(o, %0), (T1,¥1)s - -+ (Zn, Un) 07 & @B @ﬁf@)ﬁmﬁf e,
T —
h=(z1~%0), .-y (Tn —Zn_1) g, u = T & Vi, Vi, ..., Vi g, om
yBe exind ¢ 30 ea@aazs:’m. -

(b) swom & @B D@D aeds’ geg alniBedam gyus widm B f{42) ecw gue
BEomw BT,

£ 20 25 30 35 40 45
Flz) 354 332 291 260 231 204

(a) von & B dnd @i vdBed Dugd cwdd wew ©d 90 Ale® ehbdw
om0 WOBTD. BeE® ol »EBws! R vcwsy mosim.

2:131+$2+.’L'3= 1
42}'1—6$2: 6
=221+ Txo + 223 = 4

(b) vum 8 g8 dme u@mdes vddBed BIHD gow MY HITD. 885 ©©
sddBfed nFOe gmon BoETm. @aed 8€nd 8md BRI ouly ¢fdxim.

$1+2£E2= 7
1+ 3x0 = 2

(¢) SHendBes? gom-mde GEb®ws vilners? svn 8 gl dnd udmisn sdded
Beag® grrewden 3 o edth emasim. (212, 2:°%, 23°) = (0,0, 0) oces oximn.

32','1 — Xg = 6
—x1 + 51132 - 3$3 =11
—Iy + 4$3 =3

One®asiad ...



Qs.

Q6.

Q7.

(a) 1 gudienmens’ B0uast Bbe gma mdslm. 8 BBw wdnews fﬂl x? dx
e enBn® goos cdosin.

ii. eumiemde ®8s @eds gmBy® avw v »win® gow gud ecfun ewcsIm.
008 ecduw 3D® mJ KRR BBus? Bhw D@ By miwert emews? e®®
NB Byen WE DO gum 1 eEOB BEY vwit MBRe®s ecdaw gi) O B
eusiosIm.

(b) n = 3 wewm § 0fe D¥eBe HOs wEnens’ f11'5 *Inzdr 8 a5Bn® sow
G 05im, n = 3 sew O e vy s BEeDEsY 0.774596, 0, —0.774596 ¢
0.58555, 0.88888, 0.955555 ecs semsim.

@ f:]a, b = R Gnw B Bunas L by 806 Bude mdn mdxtess wil
Bedst gend mixtery nenie?

d ; g
(b) d_gtj =y =ycost, 0 <t <1, y(0) =1 gome B@mimad goms ducls ¢B
D0 eustDsin. o® wey AR ¥dnm HOD Heduw HdED Ew eddsinm,

(¢) 9w wgwss edme udmiemed y(0.3) agwr Bue® ABEY yp© wdnewsy ewesis.
8e0d 8» h = 0.1 ece scnsim.

(d) oom ebmcE Bdmdme sew y = " ndy Dug®x 9D esidslm. v (¢)
ezde mBnewst t = 0.3 8 nds ecdvs ommw WOsTH. HOE ews sbesimg
O DB T HAB @IBG ¥ L.8sIcHE WIBIB.

(a) 1. qip® bbe ebBdw wy) peuie?
ii. 2820 Yo eabted Srnas O O ¢f»® Dw DYPoew wews O wdmdem
Oy esis monis.

il swn & g8 Oged taqé)m“ efmanst wodme WS y = ap + 01T WBWOwmad ag w
a1 BEEH Hiwm® gndn® gowvst ea o,

z 0 2 4 6 8
flz) 130 123 119 86 62

(b) % =y + 72, y(2) = 2 20w a®mdenn §-8 w0 (Rungee Kutta) m®w wibmn
T
w0 Y(2.4) ewowsisy. h = 0.2 ece osim.

[ la N ra W W) Ly Wl e e Tavia iVl o ia ot ey



